CMA-I
2P SEMESTER (B.COM)

MODEL QUESTION WITH SOLUTION

Teacher: Prof. Sunita Saha

COST AND MANAGEMENT ACCOUNTING-I---HONOURS
First Paper
(CC2.1Ch)
Full Marks:80

Group-A

What do you mean by the term ‘Cost accounting'2ilgsiish between Cost Center and Cost
Unit (2+3)
Or,
How cost can be classified on the basis of Manage®Decision Making 5
(a) What do you mean by period cost? (2+3)
(b) Mention the cost unit to be applicable aga@@th of the following industries.
i Automobile
i Coal
iii  Hospital
iv Pharmaceutical
v Transport (Rail/ Road)

vi Nursing
State with reason the behavior of the followingt@sl calculate cost for 2800 units: (5 marks)
Productiol 1500 unit 2000 unit:
Cost A (Rs, 12,00( 16,00(
Cost B (Rs 9,00( 9,00(
Cost C (Rs 7,00( 8,00(
Or,
What do you mean by under and over absorptionatbfg overhead? State any two methods of
treatment of such under and over absorption in@osbunts. 5
The following particulars are available in respafch contract as on 31.03.2018: 5

Rs

Contract Pric 10,00,00t
Total cost of contract till 31.03.20 5,50,001
Cost ofuncertified worl 25,00(
Cash received (retention money being 1 5,31,25(

Compute the amount of profit that may be transtetoeprofit and loss account and the value of
Work in progress.

Or,

A company estimated its cost as below:

Direct materials — Rs 14,000; Direct wages—Rs 1M,04ctory overhead—60% of direct wages;
Administration and selling overhead (excluding cassion)—20% of Work cost.

If sales commission is 5% on sales and rate oftfso25% on total cost, find the selling price.

1|Page



CMA-|

2P SEMESTER (B.COM)

MODEL QUESTION WITH SOLUTION
Teacher: Prof. Sunita Saha

Group- B
(Marks: 30)
5. (a) Discuss the concept of Economic Ordering Qua(Bi+7)
(b) From the following particulars compute:

i Reorder level

i Reorder quantity

iii Average stock level

iv. Maximum re order period:
Normal usage:- 100 units per day
Minimum usage-60 units per day maximum usage—183 per day
Minimum level—1400 units maximum level—7800 units
Re order period: Normal 25 days, Minimum20 days.

Or,

The particulars of receipts and issues of mateiradsfactory in March 2018 are as under: (10 mjarks

Marcl 1 Opening balanc 1000kg: @Rs 5 ki
March ¢ Purchase 2000 kg @Rs 6 per k
March 1° Issuel 1400 kgt

March 2: Purchase 1000 kgs @Rs 7 per k
March 3( Issuel 2000 K¢

Calculate the value of stock as on 31-03-2018 had/alue of materials issued using LIFO method and
weighted average method. (preparation of storegelegiccount is not mandatory).

6. A, B, Cin a particular day had produced 200, 250 200 pieces respectively of a product “P”.
The time allowed for production of 25 units of “B"1 hour and the hourly rate of wage payment
is Rs 8. Calculate for each of these three wortterdollowing under Halsey premium bonus
(50% sharing) and Rowan premium Bonus methodsbaflaremuneration.

i Earnings for the day (8 hours per day) and
i Effective rate of earnings per hour

Or,

What is overtime premium? How can it be treatedoists accounts? Suggest two steps that can be taken
to control overtime. (10 marks)

7. The following is the trading and profit and lossant of Deep Industries Ltd. For the year
ended 31 December 2018:

Re Re
To material 45,00( By sales (4,800 unit | 96,00(
To wage 33,00( By Closing Stocl 20,40(
(1,200 units)
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To works expens: 24,00(
To administrative 6,00(
expenses
To net profi 8,40(
1,16,40( 1,16,40(

The company’s cost records show that:

1. Works overhead have been absorbed at Rs 3 pgorodiiced and
2. Administrative overheads have been absorbed at3®sper unit produced

Assuming there is nothing by way of WIP eitherhag beginning or at end and there is no

opening stock of finished goods, prepare:

1. A statement of cost indicating the net profit and
2. A statement reconciliation the profit as disclobgdtost accounts and that shown in

financial accounts.

gain account (15 marks)

Group -C
(Marks- 30)

8. Y Ltd. Produces a single product which undergoesprocesses. From the following
information prepare process accounts, Normal lossunt, abnormal loss account and abnormal

Proces A B
Raw materials (3000 units) | 15,00( -
Additional materials (R: 100C 78C
Direct wages (R 14,00( 20,00(
Production overhead (F 300( 750(
Normal Loss % of Inpi 10% 5%
Scrap value per ul Rsz Rst
Output in unit 2,80( 2,60(

Or,

A transport company is running four buses betweelhiland Alwar, covering a distance of 100 kms.
The seating capacity of each bus is 40 passengeedollowing particulars are obtained from its keo
for the month of October 2012:

Wages of driversconductor 48,00(
Salaries of office sta 15,00(
Honorarium of accou 5,00(

Diese, oil etc 80,00(
Repairs anmaintenanc 16,00(
Road tax and insurar 32,00(
Depreciatiol 52,00(
Interest and other char 40,00(

Actual passengers carried were 75% of the sea#ipgcity. All the busses ran for 30 days. Each bus
made one round trip per day. Find out the farectimpany should charge per passenger/km if it wants

profits of 20% on the takings.
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9. From the following particulars relating to prodactiand sales for the year ended 31.03.2019
prepare a statement showing cost and profit: (1&sha

Rs Rs Rs Rs
Raw material: 12,50( Direct labou 1,35,00t
(1.04.2018)
WIP (1.04.201¢ Office expense -
Rs 2 pu
At prime cos 15,00( Selling expense -
Rs 1 Pu
Factory expens 3,00( Distribution 15,00(
expenses
18,00( Sales (28,00 4,00,00!
units)
Material purchase 1,10,00t Raw materials 20,00(
(31.03.2019)
Freight on materia 5,00( WIP
(31.03.2019)
Loss of material by 5,00( At prime cost 10,00(
fire
Factory expens: 70,00( Factory expens: | 8,00(
Chargeable expens 25,00( 18,00(
Stock of finished goods
Date Units Value
1.04.201: 8,00( 60,00(
31.03.201 10,00( ?

Assumes sales are made on FIFO basis.

Solutions:
“Cost accounting” is concerned with setting up ketdgand actual cost of operations,
processes, departments or products and the anafygsiances, profitability or social use of
funds. The managers, to support decision makingutoa company’s costs and improve

profitability, use cost accounting.

The distinction between cost centre and cost uait a

Cost centr

Cost uni

Cost centre is a location, person or an iter
machinery or a group of machineries
respect of which all costs are accumulated
the purpose of cost ascertainment and

control

Cost unit is a un of quantity of product
imervice in respect of which cost is ascertai
for
cost

nhed

Cost centre may be personal or imperson:i
it may be production or service cost centre

No distinction is made in respect of cost

Cost centre is uniq|

Cost unit may be compite cost unit e.g
ton-km or bed per day etc.

OR,

Classification of cost on the basis of managemeanisibn making
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Differential cost
Relevant cost

iii. Sunk cost

iv. Opportunity cost

i. Differential cost:- the concept of differential ¢ésimportant for decision making. Al
alternative costs are evaluated at the time ofsitatimaking

ii. Relevant costs:- it is the cost that are effecteddzisions. The cost for example in case of
three joint products x1, x2,x3 where futher prosessost is considered for each product but
joint cost is irrelevant

iii. Sunk Costs:- the cost which is incurred in the pastis nothing to do with the future
decisions.

iv. Opportunity cost:- it is the cost which has noemécurred and paid in cash. It is the loss of

earnings or potential benefits arising out of miilg an asset for another purpose.

2. (a). Period costs are those costs which are ohtdad in the product costs. At the time of
stock valuation, no part of these costs are takiEndonsideration. Sales commission,
advertisement are good example of period cost.cbhts are charged to the profit and loss
account of the period in which they have been irgzlr
(b).

Industry Cost per un

Automobile 1 or 100 un

Coa Ton

Hospital patient per day/ outdoor patient v
Pharmaceutic Gram/ jar/tube/k

Transpor Passeng+km, ton—-km

Nursing Per bed per di

3. Ans: Solution
Cost item Nature of cost
A Variable cos
B Fixed cos
C Semi variable co
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(a) Cost item # Rs12000/1500U= Rs 8 per L

(b) Cost itemB Rs9000 (fullyfixed cost

(c) Costitem C
1. Variable proportion

Change in total cost/ change in ou
= Rs8000-Rs7000/2000u-1500 u
=Rs1000/500 units

= Rs 2 per unit

2. Fixed cost included there

Rs7,00 (1500*Rs2)= Rs4,0(

Computation of total cost for Rs 2800 units of outpt:

A (2800 units@¢ 22,40(
B (fully fixed cost 9,00(
C (2,800 units @Rs2 +Rs 40! 9,60(
Total Cost 41,00(

Or,
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Over and under absorption of overhead:
Actual overhead costs incurred are equal to tte toterhead absorbed. If there is any
difference between the estimated costs/ activatiesactual costs/ activities, the result is over
or under absorption of overhead.
If the overhead incurred is more than overheadrabsioan under absorption of overhead
occur
If the overhead incurred is less than the overladmsdrbed an over absorption of overhead
will occur.
Disposal of over/ under absorption of overhead
1. Transfer to costing profit and loss account: uridiermethod and under/ over absorption
of overhead are charged or credited to costingt@nfl loss account fot the period. In
case of under absorption it is debited to costimditpand loss account and in case of
over absorption it is credited to costing profitldoss account.
2. Use of supplementary rate:
A supplementary overhead rate is calculated bytpkito consideration under / over
absorption of overhead and the base for calculatianiginal overhead rate (eg: labour
hour, machine hour)
Supplementary rate= actual overhead- overhead absbed/ base (machine hr,
labour hr etc.)
Supplementary over head rate is computed at thefesach month and it is used to
adjust the value of finished product/ job, WIP lué toncerned period.

Ans: 4
a) Value of work certified= cash received/ 100%-reimmpercentage
= 5,31,250/ 100%-15%
= 6,25,000
b) Calculation of notional profit
Value of work certifier 6,25,00(
+ cost of work uncertifie 25,00(
6,50,00(
(-) total cost of contract price up to ¢ 5,50,00
1,00,001
Calculation of percentage of completion
= value of work certified + cost of work uncertifiecontract price * 100
= 6,25,000 + 25,000/ 10,00,000 * 100
= 65%
c) Profit to be credited to the profit and loss act¢oun

2
3 Notional profit x cash received/ work certified

= § % 1,00,000 * 5,31,000/625000
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d)
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Value of WIP
Cost of contract till da 5,50,00(
+ profit transferred to P, 5666
6,06,66°
- Cash receive 5,31,25(
Value of WIP 75,417
Or,
Let the selling price be “X”
Particular Amouni
Direct material cos 14,00(
Direct wage 10,00(
Prime cost 24,00(
Add: factory overhead (60% of direct wac | 6,00(
Works cost 30,00(
Add: adm & selling overhead (20% of W 600(
Add: sales commission ( 5% of sales of F | 0.05X
Cost of sales (total cos 36,000 + 0.05.

Add: profit (25% on total cos

9000 + 0.0125 .

Selling prict

45,000 + 0.0625

We already assumed selling price as X
Therefore,

45,000 + 0.0625X=X

Or, 45,000= X — 0.0625X

Or, 45,000= 0.9375X

Or, X= 45,000/ 0.9375

=Rs 48,000

Therefore selling price is Rs 48,000

Sales commission = 0.05X= 0.05* Rs 48,000

Rs 2400

Profit = 9,000 + 0.0125X= 9000+0.0125*48,000= 90608= Rs 9600

Group- B
5 (a). Economic order quantity EOQ is the ordee $imt minimize the sum of the costs of
ordering stock , the cost of holding stock andghertage cost

E0Q=£§9

Where,

E=EOQ

A= annual demand

O= Ordering cost

H= Holding cost per unit per year

5 (b)
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i We know,

Minimum level = Re order level — (Normal usage * Normal reorder period)
1,400 units= Reorder level- ( 100 units*25)

Or, Reorder level = 1400 units+ 2500 units

Or, Reorder level = 3900 units

ii Maximum level=re order level — (Min usage * minreorder period) +
reorder guantity

7800 u = 3900 u —( 60u *20 )+ re order quantity

Or, 7800u = 2700 u + re order quantity

Or, re order quantity = 7800 units — 2700 u

Or, re order quantity= 5,100 units.

iii. average stock level maximum level + minimum level /2

= 7800 units + 1400 units /2
= 4600 units
V. Normal re order period maximum re order period + minimum reorder period /2
2*25days= maximum re order period +20 days
Or, 50 days- 20 days= maximum re order period

Or, maximum reorder period= 30 days

5 or,
STORE LEDGER ACCOUNT )LIFO
RECEIVED ISSUED BAANCE
DT QTY | RATE | AMOUNT | QTY | RATE | AMOUNT | QTY [ RATE | AMOUNT
March - - - - - - 100( 5 500(
1/2019°
March8/| 200C 6 1200( - - - 100C | 5 500(
2019 2000 6 12000
March - - - 140( 6 840( 100C | 5 500(
12/2019 600 6 3600
March | 100C 7 700C - - - 100 | 5 500(
21/2019 600 6 3600
1000 | 7 7000
March - - - 100( 7 700C 60C 5 3000(cl
30/2019 600 6 3600 stock)
400 5 2000
Store ledger (weighted average)
RECEIVED ISSUED BAANCE
DT QTY | RATE | AMOUNT | QTY | RATE | AMOUNT | QTY | RATE | AMOUNT
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March - - - - - - 100( 5 500(
1/2019°
March8/| 200( 6 1200( - - - 300C | 5.67 1701(

2019

March - - - 140(¢ 5.67 793¢ 160C | 5.67 9072
17/2019

March | 100( 7 700( - - - 260C | 6.1¢ 1606¢
21/2019

March - - - 200( 6.1¢ 12,36( 60C | 6.1¢ 3708 )cl
30/2019 stock)
Workings:
Opening stock 1000 kg 5,000 Stockinhan 160C 5.67 907
+purchase 2000kg 12,000 +purchase 1000 2000

3000 kg 17,000 2600 16072

Cost per kg= 17000/3000= 5.67 6.18

Ans 6

Statement showing time taken, time allowed and smed

A B C
Production in unit 20C 25C 30C
Time allowed(@25 piecesp | 8 1C 12
hr)
Time taken in hou 8 8 8
Time savec 0 2 4

1. Calculation of earnings per day
(a) Halsey premium bonus method
earnings = hours worked = rate per hour + 50% of time saved * rate per hour

A’s earning per day= 8*8+50% of nil* Rs 8= Rs64

B’s earnings per day= 8*8 +50%*2* Rs 8= Rs72

C's earnings per day= 8*8 + 50%*4* Rs 8= Rs 64 4&sRs80
(b) Rowan premium bonus methods

timesaved

Earnings#ours worked * rate per hour + * time taken * rate per hour

timeallowed

A’s earnings per day = 8 * Rs 8 (0/8)*8*Rs8= Rs64
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B’s earnings per day= 8 * Rs8 +(2/10)*8*Rs8 = R3-63%12.80= Rs 76.80
C's earnings perday =8*Rs 8+ (4/12)*8* Rs Bs64+Rs21.33= Rs 85.33

Calculation of effective earnings per hour

A B C
Halsey premiun Rs64/8= Rs Rs72/8= Rs Rs80/8=Rs1
Rowan premium bonu | Rs64/8= Rs Rs 76.80/8=Rs9.¢ Rs85.33/8=Rs 10.!
method
Or,

Qvertime premium:-

Overtime hours at normal rate will be treated aeatilabour cost and it is to be charge to the job.
Overtime premium will be treated according to ditu@s. The cost accounting treatment depends upon
the following reasons:

1. When overtime is restored at the request of théomeyr, the entire amount of wages including
overtime premium should be charged to the jobfitsel

2. When overtime is required to make up lost productioe to fire, flood, strike etc the overtime
premium should be charged to profit and loss adcoun

3. A particular job may be taken on urgent basis wiibr knowledge that overtime will be required
and the quotation of the job may include the owgtpremium factor.

4. If there is any bottleneck in the production pracesd overtime is necessary the overtime
premium should be treated as factory overhead

5. When overtime is necessary due to negligence okeverof other department the overtime
premium should be charged to the concerned depairtme

Control of overtime

1. All overtime should be properly authorized and ttmeument authorizing overtime should be
transferred to the payroll department for verificatof overtime booking.

2. If there is any bottleneck in the production pracés which overtime is arising proper steps

should be taken to remove that bottlenecks

A daily report of overtime time work should be siithed to the works manager

There should be a system of preventive maintenenaeoid or reduce machine breakdown

Skill development programme should be undertakethi® workers to improve labour efficiency

and to reduce overtime.

o s w

Ans 7:

Deep Industries Ltd

Statement of cost and profit as per cost accounts
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Materials 45,00(
Wage: 33,00(
Prime cos 78,00(
Works overhead (6,000* 1800(
Factory cost/ works cc 96,00(
Administrative overheads (6,000* Rs1. 9,00(
Cost of production (6,000 105,00(
Less: closing stock (working 21,00(
Cost of goods so 84,00(
Selling and distribution overhee Nil
Cost of sale 84,00(
Net profit (Bal fig’ 12,00(
Sale: 96,00(

Statement showing the reconciliation of profit/d@s per cost and financial accounts

Net profits as per financial accoul 840(
Add: under—absorption of works overhe
As per financial accour 24,00(
As per cost accour 18,00(
Add: overvaluation of closing stock as |
cost accounts:
As per cost accour 21,00(
As per financial accour 20,40(
60C
15,00(
Less: over absorption of administrativ| 9,00(
overhead:
As per cost accounts
As per financial accour 6,00( 3,00(
Net profit as per cost accou 12,00(

Working notes:

a. Number of units produced= number of units sold+ berof units unsold

= 4800 u +1200 u= 6,000u
b. Cost of production = Rs1,05,000
Number of units unsold= 1,200 units

o

d. Value of closing stock= Rs 1,05,000/ 6,000 * 12603=21,000

Ans. 8
In the books of Y Itd.
Process A account
Particular Q R |A Particular Q R |A
To R/IM 3,00C | 5 | 15,00( By Normal Loss| 30C 2 | 60C
(Note 1)
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To materials (ad - - | 1,00C By process B a 280C |12 | 33,60(
To direct wage 14,00(
To productior 3,00(¢
overhead
To abnormal gai| 10C | 12 | 120
(note 2)
310(¢ 34,20( 310( 34,20C
Process B account
Particular Q R |A Particular Q R | A
To process A a 280C | 12 | 3360( By Normal Loss| 14C 5 |70C
(Note 1)
To materials (ad - - | 78C By abnormal lossa | 6C 23 | 138(
To direct wage 20,00( By finished stocl 2600 | 23 | 5980(
To productior 750(
overhead
280( 6188( 280( 6188(
Normal Loss account
Particular Q R |A Particular Q R | A
To process A a 30C |2 |60C By abnormal gaina | 10C 2 | 20C
To Process B a 14C |5 | 70C By Bank a/- Process| 20C 2 |40C
A
By Bank a/+ process| 14C 5 | 70C
B
44C 130( 44C 130(
Normal Loss account
Particular Q R |[A Particular Q R |A
To process A a 30C |2 |60C By abnormal gaina | 10C 2 | 20C
To Process B a 14C |5 | 70C By Bank a/- Process| 20C 2 | 40C
A
By Bank a/~ process| 14C 5 | 70C
B
44C 130( 44C 130(
Abnormal Gain account
Particular Q R |A Particular Q R | A
To Normal loss a 10C |2 | 20C By process A a. 10C 12 | 120C
To profit and loss a 100(
10C 120( 10C 120(
Abnormal Loss account
Particular Q R [A Particular Q R |A
To Process 60 23 | 138( By BANK 60 5 |30C

12| Page




CMA-|
2P SEMESTER (B.COM)

MODEL QUESTION WITH SOLUTION
Teacher: Prof. Sunita Saha

By profit and loss a 108(

6C 138( 6C 138(

Working Notes:
Process A

1. Normal loss is 10% of input=10% of 3,000 units=301ts
Scrap value = 300*2 = Rs 600

2. Expected output (3,000-300) 2700 units
Actual output 2800 units
100 units
b) Cost per unit= total process cost- scrap vafuemmal loss/ expected output (Input- Normal
Loss)

= 33,000-600/ 3,000-300= 32,400/2700= Rs12
3. Value of abnormal gain= 100 * 12= Rs 1200
Process- B

4. 1. Normal loss is 5% of input= 5% of 2800 units©14

5. Scrap value= 140 units *Rs 5= Rs700

6. Expected output (2800-140) 2660 units

7. Actual output 2600 units
Abnormal loss 60 units
Cost per unit= Total process cost- scrap valueoafnal loss/ expected output (input — normal
loss)

= 61880-700/2800-140= 61180/2660= Rs 23
Value of abnormal loss= 60* 23= Rs 1380

Or,

Calculation of passenger km

Passenger-km=

Distance*seating capacity*occupancy rate*no of dagsof trips* no of buses
=100 km * 40 passengers * 75% * 30 days *2*4

=7,20,000 passenger km

One round trip = 2 one way trips

Operating cost sheet for the month of October

Particular

Standing charg
Wages of drivers, conductors 48,000
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Salaries of office sta 1500(
Honorarium of accountant 5,000
Road tax and insurance 32,000
Deprecation 52,000
Interst and other charges 40,000
1,92,000
Running and maintenance c
Diesel, oil etc 80,000
Repairs and maintenance cost 16,000
96,000
Total operating cost for the month of Octc 2,88,00(

Cost per passenger — km= Total operating cost/atséenger-km

= 2,88,000/ 7,20,000= Rs 0.40 per passenger-km

Let fare per passenger km = x

X=Rs 0.40 +20% of x

Or, x-0.20x= Rs0.40

X=Rs 0.50

9

Cost sheet for the year ended 31/3/2019

Opening stock of R/ 12,50(
Purchas«of R/m 1,10,00(
Freight on R/N 5,00(
1,27,50(
Closing stoc 20,00(
Material lost by fir 5,00(
1,02,50(
Direct labou 1,35,00(
Chargeable expens 25,00(
TOTAL 1,60,00(
+ op stock of WIP (at prim 15,00(
cost)
1,75,00(
Cl stock ofWIP (PC 10,00(

PC 26750(
+ factory ofl 70,00(
33750(
+ op stock of WIP (at F( 300(
34050(
Closing stock of WIF 800(
33250(
+office exp (2* 30,00( 60,00(
Cost of production 392500
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+ op stock of F( 60,00(
45250(
- Cl stock of f¢ 13080(
Cost of goods so 32170(
+ selling exp (1* 28,00 28,00(
3,49,70(
+distribution ex| 15,00(
Cost of sale 36470(
Sales 4,00,00!
Profit 35300
Value of cl stock o U
finished goods
Opening stoc 8,00(
+produce 30,00(
3800(
- Sale 2800(
Cl stock 10,000 L
Value of cl stock= 13.08* 10,000 u {3,92,500/30,p00
1,30,800

Units produced:

Op stock+ produced= sales+ cl stock
8000+x= 28,000+ 10,000

8000+x = 38,000

X =30,000 u

15| Page




